© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

43680100 HANSARONDA Style - Sprchova batéria

EAN: 4015474107113

static.hansa.com/43680100

Nahradné diely
SP43680100
Nazov Kod

11 Vsuvka, M16x1, SW10 59912802
12 Skrutka, M8x8 59906104
15 Kryt priruby Chrom 59912652
16 0-krazok, d 32x2 59912803
17 Cistiaci filter 59911684
21 Kryt priruby Chrom 59912800
22 Plug Chrom 59911480
23 Adaptér Chrom 59911486
24 0-kriizok, 25.07x2.62 59911479
25 Pristdpenie, G1/2 59911491
26 Tesnenie, 52x63x5 59911798
3 Ovladacia rukovat, 80 mm Chrom 59912128
31 Skrutka, M6x20 59911228
32 Lock ring Chrom 59912811
5 Ovladacia rukovat 59912813
5.1 Tesniaci krdzok Chrom 59912809
52 Skrutka, M6x9.5 59901609
53 Vymedzovacia vlozka Chrom 59911840
6 Termoelement/Kartus, 4.0 5990450101
62 0¢né skrutka, M42x1, SW38 59912812
7 Spatny ventil 59905714
72 Zavit bradavky, G1/2xM18x1 59911384
73 Zavzduiiovaci ventil, DN15 59911330
NI Klac, Swas/41 59912780

1


https://static.hansa.com/43680100

